Questions from Homework
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Graphs of Other Trig Functions

y=sin 0

y = sin X

What would the graph of
csc 0 look like?

REMEMBER:

cscH =

81 &

where sin x =0,
csc x 1s undefined

y = CSC X




y=cos 0
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: P P R sec 0 look like?
_._E.__ ...................................................
REMEMBER:
secH = L
cosé

where cos x = 0,
sec x 1s undefined

y = COS X y =sec X




y =tan 0

What would the graph of
cot 0 look like?

REMEMBER:
1
— bt PR — tanxy = ——
=Inz  -SwM ] “FmMd -niZ =t w4 wl InM L] nM Iml2 c otx

where tan x = 0,
cot x 1s undefined

y=cot0
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Homework
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